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Old & new signal selections:

S(t)= 𝐴
𝑡−𝑡0

𝜏
𝑒−

𝑡−𝑡0
𝜏 𝜃( 𝑡 - 𝑡0 )

Signal selection( for TB2016 ): For TB2020:

1. 1 < 𝜏𝑓𝑖𝑡< 3 1. 1,4 < 𝜏𝑓𝑖𝑡< 3,2 – high gain

2. 𝑆𝑚𝑎𝑥 < 2000 ADC 0,5 < 𝜏𝑓𝑖𝑡< 3,2 – low gain

2. 𝑆𝑚𝑎𝑥 < 2000 ADC

3. 𝑡1,𝑏𝑖𝑛- 2,7 < 𝑡0,𝑓𝑖𝑡 <  𝑡1,𝑏𝑖𝑛 - 0,5 3. 𝑡1,𝑏𝑖𝑛- 3,2 < 𝑡0,𝑓𝑖𝑡 <  𝑡1,𝑏𝑖𝑛 - 0,5 – high gain

𝑡1,𝑏𝑖𝑛- 2 < 𝑡0,𝑓𝑖𝑡 <  𝑡1,𝑏𝑖𝑛 - 0,5 – low gain

4. 𝑁𝑁𝑜𝑢𝑡𝑝𝑢𝑡 > 0,5 4. 𝑁𝑁𝑜𝑢𝑡𝑝𝑢𝑡 > 0,5
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Plots for signal selections 3



Plots for signal selections 4



Problems
Hits in event with signal selection
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Problems
Hits in event with signal selection
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BACKUP
Hits in event without signal selection
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